



On estimates for the first Hankel-Clifford transform

Mohamed El Hamma^a, Radouan Daher^b, Hasnaa Lahmadi^c

^a Université Hassan II, Faculté des Sciences Aïn Chock, Département de mathématiques et informatique, Laboratoire Topologie, Algèbre, Géométrie et Mathématiques Discrètes, Casablanca, Maroc

^b Université Hassan II, Faculté des Sciences Aïn Chock, Département de mathématiques et informatique, Laboratoire Topologie, Algèbre, Géométrie et Mathématiques Discrètes, Casablanca, Maroc

^c Université Hassan II, Faculté des Sciences Aïn Chock, Département de mathématiques et informatique, Laboratoire Topologie, Algèbre, Géométrie et Mathématiques Discrètes, Casablanca, Maroc

Abstract

In this work, we obtain new inequalities for the first Hankel-Clifford transform in the space $L^2((0, +\infty), x^\mu)$, $\mu \geq 0$, using a generalized translation operator for proving these estimates in certain classes of functions characterized by a generalized continuity modulus.

Keywords: First Hankel-Clifford transform, generalized translation operator

2010 MSC: 47G30

1. Definitions and preliminaries

In [1, 2], Abilov et al. proved two estimates for the Fourier transform and for the Bessel transform on certain classes of functions characterized by the generalized continuity modulus.

In this paper, we prove the generalization of Abilov's results in the first Hankel-Clifford transform on the interval $(0, +\infty)$. For this work, we use a generalized translation operator. We point out that similar results have been established in the Jacobi transform and the Dunkl transform (see [5, 6]).

Now, we collect some basic facts on the first Hankel-Clifford transform, and more details about this transform can be found in [4, 10, 12, 13].

Assume that $L_\mu^p = L_\mu^p((0, +\infty))$, $p \in [1, +\infty)$ and $\mu \geq 0$, as the space of all those real-valued measurable functions f on $(0, +\infty)$, such that

$$\|f\|_{L_\mu^p} = \left(\int_0^\infty |f(x)|^p x^\mu dx \right)^{1/p} < \infty.$$

The first Hankel-Clifford transform of a function $f \in L_\mu^1$ is defined for $\mu \geq 0$ as (see [4, 10, 12])

$$h_{1,\mu}(f)(\lambda) = \lambda^\mu \int_0^{+\infty} c_\mu(\lambda x) f(x) dx,$$

†Article ID: MTJPAM-D-21-00029

Email addresses: m_elhamma@yahoo.fr (Mohamed El Hamma), rjdaher024@gmail.com (Radouan Daher), hasnaa.lahmadi@gmail.com (Hasnaa Lahmadi)

Received: 27 April 2021, Accepted: 28 August 2021, Published: 18 September 2021

*Corresponding Author: Mohamed El Hamma



where c_μ is the Bessel-Clifford function of the first kind order μ (see [7]) and defined by

$$c_\mu(x) = \sum_{k=0}^{+\infty} \frac{(-1)^k x^k}{k! \Gamma(\mu + k + 1)}$$

and $x \rightarrow c_\mu(x)$ is the solution on $(0, +\infty)$ of equation differential equation

$$x \frac{d^2}{dx^2} y + (\mu + 1) \frac{d}{dx} y + y = 0 .$$

The inverse first Hankel-Clifford transform $h_{1,\mu}^{-1}$ of $f \in L_\mu^1$ is given by

$$f(x) = x^\mu \int_0^{+\infty} c_\mu(\lambda x) h_{1,\mu}(f)(\lambda) d\lambda .$$

For $\mu \geq 0$, let $F(\lambda) = h_{1,\mu}(f)(\lambda)$ and $G(\lambda) = h_{1,\mu}(g)(\lambda)$ denote the first Hankel-Clifford transform of order μ of $f(x)$ and $g(x)$, respectively. From [10], we have the following Parseval's relation

$$\int_0^{+\infty} F(\lambda) G(\lambda) \lambda^{-\mu} d\lambda = \int_0^{+\infty} f(x) g(x) x^{-\mu} dx .$$

Then the first Hankel-Clifford transform $h_{1,\mu} : f \rightarrow h_{1,\mu}(f)$ is a linear isomorphism of the space L_μ^2 into itself, and for any function $f \in L_\mu^2$, we have the Parseval's identity

$$\|\lambda^{-\mu} h_{1,\mu}(f)(\lambda)\|_{L_\mu^2} = \|x^{-\mu} f(x)\|_{L_\mu^2} .$$

The normalized spherical Bessel function of index μ is defined by

$$j_\mu(x) = \frac{2^\mu \Gamma(\mu + 1) J_\mu(x)}{x^\mu}, \tag{1.1}$$

where J_μ is the Bessel function of the first kind and Γ is the gamma-function (see [9]).

From [7] and formula (1.1), we have

$$c_\mu(x) = \frac{1}{\Gamma(\mu + 1)} j_\mu(2\sqrt{x}) . \tag{1.2}$$

From [3], we have the following lemma:

Lemma 1.1. *Let $\mu \geq -\frac{1}{2}$. Then*

1. $|j_\mu(t)| \leq 1$.
2. $1 - j_\mu(t) = O(t)$, $t \geq 1$.
3. $1 - j_\mu(t) = O(t^2)$, $0 \leq t \leq 1$.
4. $\sqrt{t} J_\mu(t) = O(1)$.

For $\mu \geq 0$, let K be the map defined by

$$Af(x) = x^\mu f(x) .$$

Let $S = S(x, y, z)$ be the area of triangle with sides a, b, c ([8, 14]). Set

$$D_\mu(a, b, c) = \frac{S^{2\mu-1}}{2^{2\mu}(abc)^\mu \Gamma(\mu + \frac{1}{2}) \sqrt{\pi}} .$$

If S exists and zero otherwise. We note that $D_\mu(a, b, c) \geq 0$ and it is symmetric in a, b, c .

The generalized translation operator is defined by

$$T_h(f)(x) = \int_0^{+\infty} f(z)D_\mu(h, x, z)z^\mu dz, \quad 0 < x, h < \infty .$$

From [12], we have

$$h_{1,\mu}(AT_h f(\cdot))(\lambda) = c_\mu(h\lambda)h_{1,\mu}(Af(\cdot))(\lambda); \quad \lambda \in (0, +\infty), \tag{1.3}$$

where $f \in L_\mu^2$.

We have in [10] the following differential operator

$$B_\mu = x \frac{d^2}{dx^2} + (1 - \mu) \frac{d}{dx}$$

and the following relation holds

$$h_{1,\mu}(B_\mu f)(\lambda) = -\lambda h_{1,\mu}(f)(\lambda). \tag{1.4}$$

The finite differences of the first and higher orders are defined by

$$\Delta_h Af(x) = (\Gamma(\mu + 1)AT_h f(x) - Af(x))$$

and

$$\begin{aligned} \Delta_h^k Af(x) &= \Delta_h(\Delta_h^{k-1} Af(x)) \\ &= (\Gamma(\mu + 1)AT_h - A)^k f(x) \\ &= \sum_{i=0}^k (-1)^{k-i} \binom{k}{i} (\Gamma(\mu + 1)AT_h)^i f(x) A^{k-i} f(x), \end{aligned}$$

where $i \in \{1, 2, \dots, k\}$ and $k \in \{1, 2, \dots\}$.

The k^{th} order generalized modulus of continuity of functions $f \in L_\mu^2$ is defined as

$$\Omega_k(Af, \delta) = \sup_{0 < h \leq \delta} \|x^{-\mu} \Delta_h^k Af(x)\|_{L_\mu^2}.$$

Denote by $W_{2,\psi}^{r,k}(B_\mu)$ the space of functions $f \in L_\mu^2$, $B_\mu^j f \in L_\mu^2$, $j \in \{1, 2, \dots, r\}$, (in the sense of Levi, see [11]) and

$$\Omega_k(B_\mu^r Af, \delta) = O(\psi(\delta^k))$$

and $\psi(t)$ is an arbitrary function defined on $[0, \infty)$

2. Main Results

In this section, we establish the estimates for the integral

$$\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda,$$

where $N > 0$.

Lemma 2.1. For $f \in W_{2,\psi}^{r,k}(B_\mu)$, then we have

$$\begin{aligned} \|x^{-\mu} \Delta_h^k B_\mu^r Af(x)\|_{L_\mu^2} &= \|\lambda^{-\mu} \lambda^r (1 - j_\mu(2\sqrt{\lambda h})) h_{1,\mu}(Af)(\lambda)\|_{L_\mu^2} \\ &= \left(\int_0^{+\infty} \lambda^{2r} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \right)^{1/2}. \end{aligned}$$

Proof. From formula (1.4), we obtain

$$h_{1,\mu}(B_\mu^r Af)(\lambda) = (-1)^r \lambda^r h_{1,\mu}(Af)(\lambda), \quad \forall f \in L_\mu^2, \tag{2.1}$$

where $r \in \{0, 1, 2, \dots\}$.

We use the formulas (1.2), (1.3) and (2.1), we conclude

$$h_{1,\mu}(T_h^i B_\mu^r Af)(\lambda) = (-1)^r j_\mu^i(2\sqrt{\lambda h}) \lambda^r h_{1,\mu}(Af)(\lambda). \tag{2.2}$$

From the definition of finite differences and formula (2.2) the image $\Delta_h^k B_\mu^r Af(x)$ under the first Hankel-Clifford transform has the form $(-1)^r \lambda^r (j_\mu(2\sqrt{\lambda h}) - 1)^k h_{1,\mu}(Af)(\lambda)$. By Parseval's identity, we have the result. \square

Theorem 2.2. For function $f \in L_\mu^2$ in the class $W_{2,\psi}^{r,k}(B_\mu)$,

$$\sup_{W_{2,\psi}^{r,k}(B_\mu)} \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda = O\left(N^{-2r} \psi^2\left(\frac{c}{N}\right)^k\right),$$

where $r \in \{0, 1, 2, \dots\}$; $k \in \{1, 2, \dots\}$; $c > 0$ is a fixed constant, and $\psi(t)$ is any nonnegative function defined on the interval $[0, +\infty)$

Proof. Let $f \in W_{2,\psi}^{r,k}(B_\mu)$. By Hölder inequality

$$\begin{aligned} & \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda - \int_N^{+\infty} j_\mu(2\sqrt{\lambda h}) |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ &= \int_N^{+\infty} (1 - j_\mu(2\sqrt{\lambda h})) |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ &= \int_N^{+\infty} (1 - j_\mu(2\sqrt{\lambda h})) \left(|h_{1,\mu}(Af)(\lambda)| \lambda^{\frac{-\mu}{2}}\right)^2 d\lambda \\ &= \int_N^{+\infty} (1 - j_\mu(2\sqrt{\lambda h})) \left(|h_{1,\mu}(Af)(\lambda)| \lambda^{\frac{-\mu}{2}}\right)^{2-\frac{1}{k}} \left(|h_{1,\mu}(Af)(\lambda)| \lambda^{\frac{-\mu}{2}}\right)^{\frac{1}{k}} d\lambda \\ &\leq \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \left(\int_N^{+\infty} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{1}{2k}} \\ &\leq \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \left(\int_N^{+\infty} \lambda^{-2r} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{1}{2k}} \\ &\leq N^{-\frac{r}{k}} \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \left(\int_N^{+\infty} \lambda^{2r} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{1}{2k}}. \end{aligned}$$

Lemma 2.1 gives

$$\begin{aligned} \|x^{-\mu} \Delta_h^k B_\mu^r Af(x)\|_{L_\mu^2}^2 &= \int_0^{+\infty} \lambda^{2r} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda &\leq \int_N^{+\infty} j_\mu(2\sqrt{\lambda h}) |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ &\quad + N^{-\frac{r}{k}} \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \|x^{-\mu} \Delta_h^k B_\mu^r Af(x)\|_{L_\mu^2}^{\frac{1}{k}}. \end{aligned}$$

From formula (4) of Lemma 1.1, we have

$$j_\mu(x) = O(x^{-\mu-\frac{1}{2}}).$$

Then

$$j_\mu(2\sqrt{\lambda h}) = O((\lambda h)^{-\frac{1}{2}\mu - \frac{1}{4}}).$$

Thus we have

$$\begin{aligned} \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda &= O\left(\int_N^{+\infty} (\lambda h)^{-\frac{1}{2}\mu - \frac{1}{4}} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right) \\ &+ N^{-\frac{r}{k}} \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \|x^{-\mu} \Delta_h^k \mathbf{B}_\mu^r Af(x)\|_{L_\mu^2}^{\frac{1}{k}} \\ &= O\left((Nh)^{-\frac{1}{2}\mu - \frac{1}{4}} \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right) \\ &+ N^{-\frac{r}{k}} \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \|x^{-\mu} \Delta_h^k \mathbf{B}_\mu^r Af(x)\|_{L_\mu^2}^{\frac{1}{k}}, \end{aligned}$$

or

$$\begin{aligned} (1 - O((Nh)^{-\frac{1}{2}\mu - \frac{1}{4}})) \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda &= O(N^{-\frac{r}{k}}) \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \\ &\times \|x^{-\mu} \Delta_h^k \mathbf{B}_\mu^r Af(x)\|_{L_\mu^2}^{\frac{1}{k}}. \end{aligned}$$

Setting $h \rightarrow \frac{c}{h}$ in the last inequality and choosing $c > 0$ such that $1 - O((c)^{-\frac{1}{2}\mu - \frac{1}{4}}) \geq \frac{1}{2}$, we obtain

$$\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda = O(N^{-\frac{r}{k}}) \left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{2k-1}{2k}} \psi^{\frac{1}{k}}\left(\left(\frac{c}{N}\right)^k\right).$$

We conclude that

$$\left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{\frac{1}{2k}} = O(N^{-\frac{r}{k}}) \psi^{\frac{1}{k}}\left(\left(\frac{c}{N}\right)^k\right),$$

then

$$\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda = O\left(N^{-2r} \psi^2\left(\left(\frac{c}{N}\right)^k\right)\right).$$

This completes the proof of theorem. □

Theorem 2.3. If $\psi(t) = t^m$, $0 < m < 2$. Then

$$\sqrt{\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda} = O(N^{-r-km}) \iff f \in \mathbf{W}_{2,\psi}^{r,k}(\mathbf{B}_\mu).$$

where $r \in \{0, 1, \dots\}$; $k \in \{1, 2, \dots\}$.

Proof. Let $f \in \mathbf{W}_{2,\psi}^{r,k}(\mathbf{B}_\mu)$, we prove sufficiency by using Theorem 2.2, then

$$\left(\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right)^{1/2} = O(N^{-r-km}).$$

To prove necessity, let

$$\sqrt{\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda} = O(N^{-r-km})$$

i.e.,

$$\int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda = O(N^{-2r-2km}).$$

It is easy to show there exists a function $f \in L^2_\mu$ such that $B^r_\mu Af \in L^2_\mu$ and

$$B^r_\mu Af(x) = (-1)^r x^\mu \int_0^{+\infty} c_\mu(\lambda x) \lambda^r h_{1,\mu}(Af)(\lambda) \lambda. \tag{2.3}$$

From formulas (1.2), (2.3) and Parseval's identity, we have

$$\|x^{-\mu} \Delta^k_h B^r_\mu Af(x)\|_{L^2_\mu}^2 = \int_0^{+\infty} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda.$$

We put

$$\int_0^{+\infty} = \int_0^N + \int_N^{+\infty} = I_1 + I_2,$$

where $N = [(4h)^{-1}]$. We estimate I_2 then separately from (2) of Lemma 1.1, we obtain

$$\begin{aligned} I_2 &= \int_N^{+\infty} |1 - j_\mu(2\sqrt{\lambda h})|^{2k} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ &= O\left(\int_N^{+\infty} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right) \\ &= O\left(\sum_{l=0}^{+\infty} \int_{N+l}^{N+l+1} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right) \\ &= O\left(\sum_{l=0}^{+\infty} (N+l+1)^{2r} \int_{N+l}^{N+l+1} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right) \\ &= O\left(\sum_{l=0}^{+\infty} (N+l+1)^{2r} \left[\int_{N+l}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda - \int_{N+l+1}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right]\right) \\ &= \left(\sum_{l=0}^{+\infty} (N+l+1)^{2r} \int_{N+l}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda - \sum_{l=0}^{+\infty} (N+l+1)^{2r} \int_{N+l+1}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda\right) \\ &= O(N^{2r} \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ &+ \sum_{l=0}^{+\infty} ((N+l+1)^{2r} - (N+l)^{2r}) \int_{N+l}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda) \\ &= O(N^{2r} \int_N^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\ &+ \sum_{l=0}^{+\infty} (N+l)^{2r-1} \int_{N+l}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda) \end{aligned}$$

$$\begin{aligned}
 &= O(N^{2r}N^{-2r-2km}) + O\left(\sum_{l=1}^{+\infty} (N+l)^{2r-1}(N+l)^{-2r-2km}\right) \\
 &= O(N^{-2km}) + O(N^{-2km}) \\
 &= O((4h)^{2km}) \\
 &= O(h^{2km}) .
 \end{aligned}$$

Then

$$I_2 = O(h^{2km}).$$

We estimate I_1 , by formula (3) of Lemma 1.1

$$\begin{aligned}
 I_1 &= \int_0^N |1 - j_\mu(2\sqrt{\lambda h})|^{2k} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\
 &= O(h^{2k}) \int_0^N \lambda^{2k} \lambda^{2r} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\
 &= O(h^{2k}) \int_0^N \lambda^{2r+2k} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\
 &= O(h^{2k}) \sum_{l=0}^{N-1} \int_l^{l+1} \lambda^{2r+2k} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\
 &= O(h^{2k}) \sum_{l=0}^{N-1} (l+1)^{2r+2k} \int_l^{l+1} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \\
 &= O(h^{2k}) \sum_{l=0}^{N-1} (l+1)^{2r+2k} \left[\int_l^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda - \int_{l+1}^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \right] \\
 &= O(h^{2k}) \left[1 + \sum_{l=0}^{N-1} ((l+1)^{2r+2k} - l^{2r+2k}) \int_l^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \right] \\
 &= O(h^{2k}) \left[1 + \sum_{l=1}^{N-1} l^{2r+2k-1} \int_l^{+\infty} |h_{1,\mu}(Af)(\lambda)|^2 \lambda^{-\mu} d\lambda \right] \\
 &= O(h^{2k}) \left[1 + \sum_{l=1}^{N-1} l^{2r+2k-1} l^{-2r-2km} \right] \\
 &= O(h^{2k}) \left[1 + \sum_{l=1}^{N-1} l^{2k-2km-1} \right] \\
 &= O(h^{2k}).O(N^{2k-2km}) = O(h^{2km})
 \end{aligned}$$

i.e.,

$$I_1 = O(h^{2km}).$$

Combining the estimates for I_1 and I_2 gives

$$\|x^{-\mu} \Delta_h^k \mathbf{B}_\mu^r Af(x)\|_{L_\mu^2} = O(h^{km}),$$

which means that $f \in \mathbf{W}_{2,\psi}^{r,k}(\mathbf{B}_\mu)$. Then the necessity is proved. \square

3. Conclusion

In this work, by using a generalized translation operator, we have succeeded to generalise two theorems in [1, 2] for the first Hankel-Clifford transform on certain classes of functions characterized by the generalized continuity modulus.

Acknowledgments

This paper is dedicated to the memory of Professor Mohammed Farid.
The authors would like to thank the referees for their valuable comments and suggestions.

References

- [1] V. A. Abilov and F. V. Abilova and M. K. Kerimov, *Some Remarks concerning the Fourier transform in the space $L_2(\mathbb{R})$* , Comp. Math. Math. Phys. **48** (6), 885–891, 2008.
- [2] V. A. Abilov and F. V. Abilova and M. K. Kerimov, *On Estimates for the Fourier-Bessel integral in the space $L_2(\mathbb{R}_+)$* , Comp. Math. Math. Phys. **49** (7), 1103–1110, 2009.
- [3] V. A. Abilov and F. V. Abilova, *Approximation of Functions by Fourier-Bessel sums*, IZV. Vyssh. Uchebn. Zaved. Mat. **45** (8), 3–9, 2001.
- [4] J. J. Betancor, *The Hankel-Clifford transformation on certain spaces of ultradistributions*, Indian. J. Pure Appl. Math. **20** (6), 583–603, 1989.
- [5] R. Daher and M. El Hamma, *Some estimates for the Jacobi transform in the space $L^2(\mathbb{R}^+, \Delta_{(\alpha,\beta)}(t)dt)$* , Int. J. Applied Math. **25** (1), 13–23, 2012.
- [6] M. El Hamma, R. Daher and A. Khadari, *On estimates for the Dunkl transform in the space $L^2(\mathbb{R}^2, w_k(x)dx)$* , FACTA UNIVERSITATIS (NIS). Ser. Math. Inform **28** (3) 285–296, 2013.
- [7] A. Gray, G. B. Matthews and T. M. MacRobert, *A treatise on Bessel functions and their applications to physics*, MacMillan, London, 1952.
- [8] D. T. Haimo, *Integral equations associated with Hankel convolution*, Trans. Amer. Math. Soc. **116**, 1965.
- [9] B. M. Levitan, *Expansion in Fourier series and integrals over Bessel functions*, Uspekhi Math.Nauk, **6** (2), 102–143, 1951.
- [10] J. M. R. Méndez Pérez and M. M. Socas Robayna, *A pair of generalized Hankel-Clifford transformation and their applications*, J. Math. Anal. Appl. **154** 543–557, 1991.
- [11] S. M. Nikol'skii, *Approximation of functions of Several variables and Embedding theorems*, Nauka, Moscow, 1996. (in Russian).
- [12] P. Prasad and V. K. Singh *Pseudo-differential operators involving Hankel-Clifford transformations*, Asian-European. J. Math. **5** (3), 2012, (15 pages).
- [13] P. Prasad and V. K. Singh *Pseudo-differential operators associated to a pair of Hankel-Clifford transformations on certain Beurling type function spaces*, Asian-European. J. Math. **6** (3), 2013, (22 pages).
- [14] A. H. Zemanian, *Generalized integral transformations*, Interscience Publishers, New York, 1968.